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1. Answer the following as directed : 1x8=8

{a) Who declared that ‘human geography is
human ecology’?

(p) Name the author of the book,
The Nature of Geography.

(c) relating to the people who have
been in a region from the earliest time.

( Fill in the blank )
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(2)

(Zz) The Gujjars and Bakarwals are native to
which State/Union territory of India?

(e) Griffith Taylor forwarded school
stating that man is able to accelerate,
slow the progress of a country.

( Fill in the blank )

refers to a situation in which
location are characterized by separation
from one another.

( Fill in the blank )

(g9 Where we mostly find circular and
semicircular pattern of rural
settlement?

(h) What does CBD stand for?

2. Write short notes on any four of the following
(within 120 words each) : 5x4=20

(a) Compact or nucleated settlements
(b) Pattern of rural settlement

(¢) Indian mega cities

(d) Causes éf urban poverty

(e) Rural gentrification
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(3)

3. What is human settlement? Discuss the
factors for development of settlement in any
region. 4+9=13

Or .
Discuss the major types of rural settlement.

Also discuss the evolution of each type of
rural settlements. 4+9=13

4. Describe the origin and growth of urban
settlements. Write briefly on functional
classification of towns. - T+6=13

Or
Write an elaborate note on the urbanization

in India. 13

5. What do you mean by hierarchy of

settlement? Explain with examples. 9+4=13
Or
Discuss the morphology of Indian cities. 13

6. Discuss the theory of market centre as
proposed by Walter Christaller. Also write the
criticism of the theory. 9+4=13

Or

Write a comparative note on market centre
theory of Walter Christaller vs. August Losch. 13
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